Et M4 RHERK 5 | # | Bl

2 E . RO S A EXE L 9,

(=) ROFHEZLEL X I,

1 2.15+7.38 2 5+ 3.47
3 3.85+7.15 4 6.67—2.54
S} 8.04—-0.67 6 5.86 —3.9

(Z) AORERT, 1. 2080
WZEAZFEL X9,
1 PEET > 5 ALAT 2 3 > C AT T
AT L XL SEO Y T kn 272 Y
EF, RDORLEZ 2 EXE

LX9,

Hr

2 HHI G FGRT A 5E > TPHHTE TITF< B 0 13, HETAH S [ HEPEE AT < i

DY LT km BWTTh, RKODZAEEFZEZEEEL LD,




(=) rHEHEEZ, AJETIX78. 9 /AT, BIETIX8 9. 8 FH T, TN<Th
o TWET, AJFIEBIEX VM THZNTT ), BExeEEXELro, 277
L., 78. 9 FHIZ78 9 THAEEREL TWET,

(W) 72LRXAELTHIAT. 14—8 25 FNFNKROLHICHEALEL

7~
[7-<READEE] [LPEAnzE]
14—-—8=+2=6=2 14—8+2=14—4
=3 =10

ELLSEHBE L TWADIZ, <R EAL LTI EADOEL LTI, LalE
EXF LS. £ COLEOIEONS A, DEELHYB LG SR
o THEEXEL L,

() WoEZEZLEL LI,
1 27 —9+3 2 27—(9+3)

3 2 7 -9 =3 4 27 (9 +3)

5 274+ 9 +3 6 (27+9)+3



(R) KOHEELEL LS, Eid—0 [ TR, bnAane Xt HEY
HEXFEL LD,

1 3296 2 1249 3 27)5 4

4 23)184 5 65260 6 43308

7 36)270 8 5850 3 9 19114

10 33693 11 15620 12 233289

) [ JieMTEEssEExE LS,

1 5m’= cm? 2 3000000m*= km?

3 400m?*= a 4 7 ha= m?




U\ ROEIED GO RN ES DA KDEL L 5.

1 3 cm 2 4 cm 3cm
Nl (T Tl
4 cm
6 cm 6 e c
3¢
H 1
3 cm 10cm
.
9 cm
3 4
[T [] m
Hn
o 1 1 [
30m 13m
15m H H O
L] 28 m
40m

(M) KOZAEICEST E 2 BrETREx £ LE S, 72,
RLET,
1T 2

(=]
(0=~

(<]

e ) N &




ETv-M4 BERSE 5 | & B
(—)
1 2 3
4 5 6
(=)
=
.
%i km
=
2
%i km EL\
(=)
A H
()

ELWHEZELEA

c
=y

N

HEOMHLS

Pl




(#)

(7%)

(£)

(/\)

(h)

1 2
3 4
5 6
1 2 3
4 5 6
7 8 9
10 11 12
1 cm? 2 km?
3 a 4 m?
1 cm? 2 cm?
3 m2 4 m2
1 2
3 4
J—
MBEAN—VYVERPUEX, EAZEZ KU

CLTWC D,
\

p(*v”™)a




iy

EE—HM4 F = @
(=) 1 9.53 2 8.47 3 11 4 4.13 5 7.37
6 1.96
(=) 1 ® 0.98+2.43=3.41 %Z 3.4 1knm
2 ® 2.714+1.2=3.91, 3.91—2.85=1.06
(2.7141.2—2.85=1.06)
ZZ 1.06knE&L
(Z) 10.95H
(m) ELWEEZLEZA LIrsia
HEDLS PO ERICEHELT, O&HET S,
(@ 1 21 2 15 3 1 4 9 5 30 6 12
) 1 3 4HFEV 1 3 2 4 8
5 4 6 THELT 7 7THEV 18 8 8»%V39
9 6 10 21 11 41H%Ev5 12 143
() 1 50000 2 3 3 4 4 70000
(J\) 1 45cm 2 4 8cm 3 1110m? 4 250m?
() 1 2.63 2 17.46 3 0.37 4 50.07




